Výsledky matematika 25.3.
97/11
538 511		314 489		220 641
98/2
5 h = 300min    Vysvětlení: 5h . 60min = 300 min
24 h = 1440min (24h . 60min = 1440min)
12 h = 720min (12h . 60min = 720min)

15 min = 900s  Vysvětlení: 15min . 60s = 900s
45min = 2700s (45min . 60s = 2700s)
30 min = 1800s (30min . 60s = 1800s)

4 h 10min = 250 min = 15 000 s		 Vysvětlení: (4h . 60min) + 10min = 250 min,  250 min . 60s = 15 000s
2 h 30 min = 150 min = 9000 s		Vysvětlení: (4h . 30min)	+ 30 min = 150 min,   150 min . 60s = 9000 s
5 h 15 min = 315 min = 18 900s 		Vysvětlení: (5h . 60 min) + 15 min = 315 min,   315 min . 60 s = 18 900 s

98/3
Půl hodiny = 30 min
Tři čtvrtě hodiny = 45 min
Čtvrt hodiny = 15 min
Jeden a půl hodiny = 90 min

